7877 LNO.1 50mBE/HF [ZF]

SHM3F1A24H (B)

EFEFRET v LV VEBR

B L= K4 FE Fip ECIR
1 2 g AR INFLE % 51.75
1 3 KRIE LS INFLF I 48.08
1 4 KH HoR INFLF I 49.47
2 20 At INFLF I 46.99
2 3/t BFTh INFLF I 45.52
2 U AN SRAN INFLF I 48.17

2 R BBA INF2F 8 38.99
3&h FE INFIE 97 36.87
48 S FiE INF2F 8/ 36.22
2 HEER & /B 11 32.74
3 KHE R INFATF 107% 32.07
4 5TH EBEiE INFATE 107% 33.48
5 3 BIR £ INEHE 11 31.49
5 48S BE INFOEF 125% 31.80
6 3 H S INFASE 107% 31.09
6 4 RITIRIFIE INFOEF 12 30.35
7 TH Atk INFHE 11m% 28.65
7 4 g feHd INFHE 11 30.24




4M3E1A248 (B) FEPEIRET v LY IERE

7877 LNO.2 50mBE®HF [BF]

B L= K4 FE Fip ECIR
1 2 B BH INFIF 9% 34.91

1 3 &H ;N INFATF 107% 33.18

1 4 Bix KIE INFAF 107% 33.50

2 mHF =3} INFHEF 11% 31.53

2 3EH BZE INFOF 127% 33.01

2 4 /)RR BB INFEEF 11% 31.80

2 EROIEAN INFOF 127% 32.19

3 B = INFOEF 125% 30.39

4 1ERE ZFRL INFOF 12% 30.72




4M3E1A248 (B) FEPEIRET v LY IERE

7827 LNO.3 50mEXE [&F]

L= K% 5E &R 5
1 3 KHE X% INF1E T 1:02.99
1 4 KIFK IOiE INF1E T 1:00.18
2 3mE mE NP1 % 58.79

4 0\t BFTh INF1E T 58.18
3 3EIEHE B INFAE 10 42.15
3 4 B3R [HF] INF2 8 46.69
4 2 MR A INFBE 115 39.11
4 3 ANESTE INFGIE 125 38.79
4 4B % INFBE 125 40.16
4 5 KR 2 INFBE 115 40.55




4M3E1A248 (B) FEPEIRET v LY IERE

7827 LNO.4 50mEXRE [BF]

B L= K4 FE Fin ECER
1 3EH BZ INFOF 127% 42.89

1 4 FE B INFIF 97 44.06

2 2 /IR R AR INFEEF 11% 42.62

3 %H ;N INFATF 107% 43.45

3 4 =8 R INFHEF 11% 42.11

3 2 EROIEAN INFOF 127% 40.83

3 3¥HE &5 INFOF 127% 37.88

3 4=H =R INFOEF 125% 40.11

3 b 1Rk Ak INFOF 12% 42.00




SHM3F1A24H (B)

EFEFRET v LV VEBR

7045 LNO.5 50mEXRE [&F])
HoL—> K4 S FE i S0k
1 2 2hd bk N T 54.30
1 3Gt B N T 52.25
1 4 L0 At INFLE TR 55.06
2 2B S INEED A S 45.45
2 3 L LA INE3AE Ol 39.93
2 4 EFs FE INEA3AE Ol A44.57
2 5 FaR AR INEED A S 47.39
3 37 A INFBHE 127% 37.22
3 4 KHE @B INFALE 108% 37.84
3EH At INFBEE 115% 35.56
4 BEER Ea INFBEE 115% 37.20
5 Eal==! & INFAEE 108% 35.12
5 4 % pisl INFBEE 115% 36.87




4M3E1A248 (B) FEPEIRET v LY IERE

787 7LNO.6 50mEFXE [BF]

B L= K4 FE Fin ECIR
1 3wt = INFEEF 11% 39.62

1 4 FE B INFIF 97 40.39

2 3EH R INFEEF 11% 37.60

4 B KIE INFATF 107% 37.83

3 2 W B INFOF 127% 35.39
3¥HE &5 INFOF 127% 34.19

3 4 =2FH B INFOF 125% 36.12




SM3F1A248 (A) 2EZFINRET v L v VREHER

7877 LNO.7 50mn2774 [&F]

B L= K4 FE Fin ECER
1 2/t BFTh INFLF I 52.89
1 3Lt H7i INFLF I 58.13
2 3 KH X1 INFLF I 55.28

i INFR2EF 8/ 42.97
3 3ER [HH INF2F 8 39.92
4 LA LA INFIF 97 38.21
2 #xF 2 INFOEF 125% 35.01
3 B 7 INFAE 107% 33.39
4 KH  FB9R INFATE 107% 35.76
5 3EH Ak INFHE 11m% 31.48

5 4 R 2 INFHE 11 33.40




4M3E1A248 (B) FEPEIRET v LY IERE

787 7LNO.8 50mn&2774 [BF]

B L= K4 FE Fin ECER
1 3 BHx KB INFAF 107% 34.34

1 4B BR INFIE E)s4 37.82

2 2=/H =R INFOF 127% 33.88

3 B =N INFOF 127% 33.08

2 4 & BE INFOF 127% 32.39




4M3E1A248 (B) FEPEIRET v LY IERE

FrLvY S50mBEHE

M OL— K& A Fir  TIME ZBHRESHE %
1 3F5L TE INF3E )5 36.03 36.81
1 483 S7-iE INEFR2TE 8K 36.03 37.05
2 2 IS B INEFHE 115 3251 33.20
2 4 BE BH INFOE 125% 31.48 31.85
FrlL vy 50mEXRE [ZF])
B oL— K& FE Fir  TIME BHBESHK i
1 3 ZH 2l INFLAE 107% 4248 42.42
1 4 B3Rk B&GFI INEFR2TE Y5 4535 46.39
Frlyvy 50mEXKE [&F]
HoL— K& FE FH  TIME ERMSHKk 5k
5 4 AR B INFHE 115 36.02 36.00
FrLvy 50mng2754 [(]F)
HoL— K& P FH  TIME ZERMSIKk 8k
4 2 Fx[ 7B INFOE 125% 34.68 3491
FyLvy 50mng2754 [BF)
HoL— K4 P FHy  TIME ERMSIk 85k
2 3&W Bt INFOE 125% 31.87 32.09
2 4 B8 =N INFOE 125% 31.87 32.56




